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Deciles(BMI)

B
et

a 
(P

G
S

);
 e

ffe
ct

 o
n 

B
M

I p
er

 a
lle

le
 u

ni
t

●

●

●

●

●

●

●

●

●

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 0.2 0.4 0.6 0.8

0.
01

0
0.

01
5

0.
02

0
0.

02
5

0.
03

0
0.

03
5

0.
04

0

BMI ~ PGS, SNPs = 230; 1e−7 < p−val < 1e−5 

Deciles(BMI)

B
et

a 
(P

G
S

);
 e

ffe
ct

 o
n 

B
M

I p
er

 a
lle

le
 u

ni
t

●
●

●

●

●

●

●

●

●

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

0.2 0.4 0.6 0.8

0.
00

6
0.

00
8

0.
01

0
0.

01
2

0.
01

4
0.

01
6

0.
01

8
0.

02
0

BMI ~ PGS, SNPs = 2418; 1e−5 < p−val < 1e−3 

Deciles(BMI)

B
et

a 
(P

G
S

);
 e

ffe
ct

 o
n 

B
M

I p
er

 a
lle

le
 u

ni
t

●

●

●

●

●

●

●

●

●

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 0.2 0.4 0.6 0.8

0.
00

4
0.

00
5

0.
00

6
0.

00
7

0.
00

8
0.

00
9

0.
01

0
BMI ~ PGS, SNPs = 9975; 0.001 < p−val < 0.01 

Deciles(BMI)

B
et

a 
(P

G
S

);
 e

ffe
ct

 o
n 

B
M

I p
er

 a
lle

le
 u

ni
t

●

●

●

●

●

●

●

●

●

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

0.2 0.4 0.6 0.8

0.
00

2
0.

00
3

0.
00

4
0.

00
5

BMI ~ PGS, SNPs = 32423; 0.01 < p−val < 0.05 

Deciles(BMI)

B
et

a 
(P

G
S

);
 e

ffe
ct

 o
n 

B
M

I p
er

 a
lle

le
 u

ni
t

●

●

●

●

●

●

●

●

●

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 0.2 0.4 0.6 0.8

−
4e

−
04

−
2e

−
04

0e
+

00
2e

−
04

BMI ~ PGS, SNPs = 39108; 0.95 < p−val < 1 

Deciles(BMI)

B
et

a 
(P

G
S

);
 e

ffe
ct

 o
n 

B
M

I p
er

 a
lle

le
 u

ni
t

●

●

●

● ●

●

●

●

●

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

1


